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i 1.1 4PPURNFLLLL ShLELILASHY
u 1.1.7. Upinwph ubnwlwi opguwiGbph L hbznngh thnpp dhpwhwmnupneGGhn
Owrwimpjwl ghGl pun  puwpnnupwh
Encd dwamwmppul widwlnudp wunhSwlh
1-hii 2-nn 3-nn
1| Pwpunnghljwi gbndh Yhowwh hbnwgnyd 100000 115000 170000
2|Upwdiugn YnOnhpndwh hbrwgned 110000 125000 225000
L 3|3 hdGhmwy wanhlw 220000 265000 285000
4|3kzungh Ghplunyunnh whswinnud 100000 125000 195000
5|3Lzinngh funnnuwlip {(qupnbbingwa) Yhuwmulbph hbrwgnud 130000 145000 185000
|| “Upguibnh funengh wuhpughnb phowuhw bl wigguwgdudp® 65000 70000 90000
“Tildngulnh funongh obpnud {whuwnpnzhy Duguenwlng) &5 wigquwgdwip® 70000 80050 100000
BlUpgulnh tunnngh phnocd / wipnwndng wd nhuphdwi nennpwipny” 75000 85000 105000
S3bwnoibpwahnb vwhh hbrwgnid |hgwwnp BLUpWUW ngnp hbn dhwuhi 125000 140000 160000
10]36inngh wwwnp bhunwgh hbrwgned 110000 125000 145000
11{Upunuphl ubnwlwl nuonhbbph niencgplGbph hbnwgned * 95000 110000 125000
12 Puipnin ikl gbndh pwpwhiwynuginh puga s 50000 0000 85000
13 Upinwight utinwlwh nunhlbnh pwpwhiwlnyuh pugnid® 55000 65000 115000
14 {ddwpulh Yhunwgh quinwplned hbnngughl wnblghwwh dhengny 100000 115000 135000
15| UspwrwiSiud thngp ubrwlws rinpbph whowunnod 75000 BROOO 93000
19| 3bnhl Yn wnwbphltngbnwwn prwgwunhl 115000 135000 163000
| 17upogh Shepawnblndwjh hbnwgned® 75000 85000 95000
g HEmLyuhD Bandwdph Rhowgnid wpgwlinh Jhpwhwnnipwh el fwnwbo dwwwbGh
wndbph® 97000 118000 128000
18]36wngh wunnh wwondwsph Jepwlwigbnug 105000 120000 130000
20{Uptnwpghl ubnwlwb nughlbph hbdwinndwgh plugned® GE000 114000 134000
| 2Munuyp wahph apquGdws Bimonh hnwgnd 138000 155000 186000
e Aniuwpwnubeh ubpemwdnd® 55000 E5000 75000
| 23|bhpwiwalpuhl thwynduwgh hbnwgnud 130000 145000 185000
p 1.1.2. Upquilinh upwpwhgh thnpp yhpwhwnnepniGbsp i
1|Upguwlnh wwpwingh phnwubu * 53000 75000 80000
2|Ungwlnh wwnwingh hsannguhl hwndwdh ubuuwal wiknunwghu 215000 265000 285000
| 3|Upquibnh wwpwlngh uwunhlyw (Ed8twh dhpuhwnntpmis) 125000 150000 230000
4|Upquulinh wwpwingh iphanbunpnhghw: 55000 70000 80000
S{Upguinh wwmubnoh tEanpninthgughu GOC00 100000 150000
| 6| Mnihytlnndhw® 50000 50000 75000
Fibnnghwih prwgnud unilndweahGay (nbnp hpwwnb brndhgy 45000 55000 5000
B|Lbnwngwinuwnb wwpnynh ( vwhpunyp) nbnwnpnid (wewba wwpnunh wpdtiph)® 55000 65000 70000
glubpwpguinuwihlb uwhpwih wbqwnpnud {wwpnypy J° £5000 75000 80000
Thwpnuph {eeghmagf ) honwagnud nbnuwh wiligguijuigiwip® A2000 52000 62000
7 | Mwpnyph (weghowgh ) hbnwgnud Gbpbpwlwshi whqgwpugdunip® 47000 57000 67000
Muwiprisnh (wegfmagh ) hbrwgnid (wpnwndngng)* 57000 B7000 73000
| 13[{Upguinh wwpwlngh tbLupnynbhawghw fhh dggnnnud/ 52000 62000 67000
14]Upgubnh wwpwlngh pnudna vwnbgdwl Thpngng -liphalnwgniuighw 42000 52000 62000




1.3 dhpwhwennipnuGObn Yywdwe wpgwinh, hBaungh wwwnbnh hebguwi L zkph b

wwnewdphbph hbun
1| UnweGunhl wijwunhlyw L hnhG hannuhnhEEnlhnu.annpnu..Lerthl.uu 225000 275000 285000
3| Vwibsbunbpwght Jhpwhwnngne 2585000 375000 395000
4|Chigh Il wunnndwaph Ubmulwbgbnudg 265000 305000 280000
5{Uhehf (UbGupnbwlwh) Wnjpynnwbhw 275000 305000 JE0000
B|Uanwlwh znuppbph dwubwlh hEnwgnud 240000 280000 355000
FUnwplwihh wjwunhli Jbbwpndhluwghugny 340000 405000 435000
n 1.1.4. Upqulnh L hbauangh wpenwGlydwh hom Ywwwe Yhpwhwnognublbp
1] Upgwlnp Jelvnpndhpuwghw 285000 335000 280000
2Bl 115000 130000 170000
3{Ungwingh hbzunngghd tpumnbnuwighw 3890000 450000 490000
E 1.1.5. 2dwpwlGbph niantgelbph hbnwgnud wprndhbwy bnwbulng
T2wnwlbbph bl nulbgnn muenugpGbnh hErwgnud 375000 420000 260000
2l wpwibbnh hlwpwhgudbhnwn wnbguwlwnd nilibignn nunnugpltinh hbswgned AT5000 430000 470000
T 3| Qdwpwiibph prpwhiwbwg Jud Gud bugrdGEpny pupnwgwd nuemigplGbnh hbrwgnud 385000 435000 475000
4] 2 wpebibph nbgblohw 315000 360000 JE0000
o 1.1.6. Upgwlinh hbawgnid wpnndh by GGl
1|Unguwinh dephbanngwihb wiuynimughu wowby b niddtph 390000 440000 450000
2| Unquiinh JEphtaunguhl wiwniuwwehw hubincdGsnm| 405000 450000 490000
3|Upgquinh tpunhpwywghw hwdb nudlbpny 415000 465000 515000
~ 4Upqubnh tputhpuughw wawbg hw b nLdbbph 415000 455000 505000
S{Unquinh (wyGwdwiuw) tpunbpwwghw puwn danhuydh 500000 595000 645000
6] 4nlubpdwinhy Shndthnndhw n pupnuglws 365000 420000 465000
7 |Uhennpnzhs puigupanndh 205000 345000 380000
B]3GzinnguyhlG funnadwlh  hbnwgnid 360000 420000 455000
t 1.1.7. dhpwhwannepmGGbp Guwgfwe wiihquuwhnippul hbwn
5 |{hnwhwinngniB0Bn Yuwwdwd Shquuywplh uPhOlwsnh hwpwabpwlwd wipwwpwpnew i
(wewly dwwwshh gih) 348000 409000 452000
o 118, dhpwhwinniembibp Gwwws Guwiwhg dhguubrwlwh opguiibph fununwlGkph bt
1 {<hpwhwinnup)ndd Shguwuywpl-hbzunguwihi funinuwlh nbwpnud 433(]430{ 529000 552000
2{dhpwhiwwnnupnl wnhpi-gBBhuw funnnywih@ funiqwhh nhwpned 433000 529000 552000
3ubpwhwenniginiG ghGhuw|-OwplwjhD ununwlh nbwenud 387000 473000 483000
5] 1.1.8. SbauinnguhG tunnndwlh dluwygapéwd dhpwhwnnepnilGsp
T14napwrwnbg npnyuwgGwigh dhongny 432000 510000 562000
2{Lnjwnunbg uhgiwwadl wan dhengny S05000 GOBOOO 635000
o 1110 dhpwhwwnepmGobp, npnGp Gwwnwnnud 50 wpquwbnh qupgugiwl wpwwnbbph
nbwpnd
| _{LGpwnguwinuwghG ng iphy dhelwuwnh husnnud 351000 412000 456000
2|LGnwnquinuwihl \phy dhebuwyuwinh hwinnyd 351000 412000 455000
3| Mwuinhl dhpuhwinnupnid wnquinh tplwndwl nhwpn 361000 423000 454000
o] 1111 Lugpwpnulmghly L wyy Eonnulnghy Ghewdwnnipnbibp :
| Unnnpnzhs puaannatnah 325000 350000 375000
2|<LUwipwbisnh EBUnpnwnunbphawghw 245000 370000 295000
3lddwpuwlbbph nbgblghw 355000 380000 415000
4] 2fwpwhltph wininhl nulbgnn nurnugglbinh hbnuwignud 370000 400000 425000
Sj@dwpuiibnh hGwnpwihguibbowp wbnwluwynignil nibbgnn ninnegplbnh hbmugaud 390000 440000 475000
6| ywpwhGhnh honwgnu 375000 438000 456000
Fidwinuub ginnbph Luynudbbph wlhgwwnnud-uwwhlgnihghu 345000 380000 415000
8| dwimuywl thnnkph hbnwgnid 320000 370000 300000
9] bwinuyw thnnbph unbinhihqugnid 315000 366000 382000
[ 10[Snbubndwahy Shndtmndhu 375000|  425000] 460000
11{3huwnbpnulinuhw whuanpnzhs Oujuiinwilyny 120000 155000 180000
12| dhmuhwinwwl hhunbpnulnwhw 275000 J25000 400000
13{Upgquwinh tounhpwwghw Lwynpnulyrhly Gruwubwlny 410000 480000 565000
| W Uwlpnybyubw Aypndnbnndhluwghuwf 430000 500000 585000
I




E 1.1.12, =fru1m.pju1[| wphbuwmwlwh phghwewnned
1]3nhnipul wphsunwlpwd phnhwnnd nbnuhb wiqgujwgdwdp 45000 60000 65000
213Anhnpul wphbunwlwh pnhwenod plrhwboep (06 whggu)wgdwdp 55000 70000 75000
Anpnipwh wphbuwwlwb pbohwnmd pbnhwbnop (06 wigouywgdedp wpnwndninyg
{1 vy gy wibing) 60000 75000 80000
7| 3nhnupiwl wphbuwmwlwh * Adphdbwyphuwnbo! 45000 BO000 B5000
1.2 N2 JbhPUPNFEUNUL GPLENALAGHRU  (PAFNEL)Y
h Unbubpdwinhy poudnud =“-'“I'FTI Uing
1|Ynbubpyunnhy vinwghnbwp prcdnud 55000 108000
2q Swppbp wunGwawghnntppul pulnbphw| wahinglbph (umuwbwl, wphtundnbhwa, 55000 105000
jwlnhnng, fupwadhnhng, nupbwiyjwgdng, dhinwyjwgdng, twnpunwy|ugdng) P :
pa|hnnLuwpG MwOnnueniGOEn (wwwhindwihpriuwihl L hbpwbnhl hEdbLghwitp 55000 105000
anunmiEguuph Lowggl) 1
25|@ngn 4nbph opgulGEph fupnBhiwlwl ny uwbgh$hly pappnguwht hhjwnn)nGhan ‘55000 105000
26| bwpSwdwibbn  hnuwyhnwpugned  gbpunwghnbwpnd 10000 1-onp
27| bwpdwdwilbn  hnuwhrnwjwgad  gipumwghnbwpnd WGl 3-op wLngneppudp / A0000
AR 2, dhrUPNFgUSUL SUNUSNFEENH
y 2.1.0L73Uunen deruPnkduLUL
Swnwjnipjwb ghGh puwn pwpnnipjul
== Pt dwnwnippul whjwbnudp wisenhdwhf
1-hi 2-n 2-pn
1{LBnwupeplh hbnwagnud  / funbghuntundpwd 2584000 57000 335000
2{Lwywipnulnughly fumbghumntiyundhw 2594000 57000 368000
3| Gnnywdplihwinnud gulgh equuwgnpddwdwp fwmulg gulgh wpdbph! 191000 57000 263000
4|dbbinpu Gnnywdpbbn 284000 57000 335000
5| Gwpupwghl gngbngh hbnwgnud 191000 57000 263000
6{UnhGbph dwulwhiwmnid 284000 57000 376000
TINpnwGiwd Gpnth hErwgnd 201000 57000 232000
8| dwhwlwdl gbndh hbnwgn:d 273000 57000 335000
S{Upinnpnziy (wiguspuonndi 151000 57000 232000
10]Spndpndibphun /JBGbLwnndhu 108000 57000 212000
11| Ewhpspwhl niqhGGppnpp 181000 57000 232000
12| @npp yhpwhwnniem bl fhwndw, wpbpndw, Shppndw,ghapndw® 26000 57000 ¥3000
Usant@antLLerh quUantsuy
U-01 | Mpgdndbpbg 1 boopu (4 wbwbo) 80000
o-36| ENPHIRCUL whigqujugnul wewbg pdolwljul gnignubbph hhywlnh gublnupudp 45000
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